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b)

1,111

1,1010

11,1001

1,11001 * 2°

010100 1100100

c)

111001 bin

39 Hex

16 *3 +9 =157 dec



Problema 2
function [F,C] = cantFCRec(As, Ai, Aj)
s = length(As);
if s ==
F = Ai(1);
C=Aj(1);
else
[F,C] = cantFCRec(As(2:s), Ai(2:s), Aj(2:s));
if (Ai(1) >F)
F = Ai(1);
end
if (Aj(1) >C)
C=Aj(1);
end
end

end

%denso sin asumir particionamiento
function R = buscarMaxRec(A)

[m,n] = size(A);

ifm==1&&n==
R=A(1,1);
elseifm==1|| n==
if m==
R = buscarMaxRec(A(1,2:n));
else
R = buscarMaxRec(A(2:n,1));
end
if A(1,1) >R
R= A(1,1);
end
else

Rf = buscarMaxRec(A(1,1:n));
R = buscarMaxRec(A(2:m,1:n));
if Rf >R
R = Rf;
end
end

end



%disperso
function R = buscarMaxRec(As, Ai, Aj)
s = length(As);

if s ==
R = As(1);

else
R = buscarMaxRec(As(2:s), Ai(2:s), Aj(2:s));
if As(1) >R

R= As(1);

end

end

end

function [MaxR, MaxC] = maxpFCIt(As, Ai, Aj, m, n)
MaxR = zeros(m,1);
MaxC = zeros(n,1);
for i = 1:length(As)

if As(i) > MaxR(Ai(i))
MaxR(Ai(i)) = As(i);

end

if As(i) > MaxC(Aj(i))
MaxC(Aj(i)) = As(i);

end

end

end



Problema 3

function R = comprimirlt(T) %
R=[T(1)];
cant=1;
for i = 2:length(T)
if T(i-1) == T(i)
cant = cant + 1;
else
R = [R cant T(i)];
cant=1;
end
end
R =[R cant];

end

function R = descomprimirRec(T) %
if length(T) ==
R =ones(1, T(2)) * T(1);
else
R = descomprimirRec(T(3:length(T)));
R =[ones(1, T(2)) * T(1) R];
end

end



Problema 4

function R = cuantoEstalt(T,X)
R=0;
for i = 1:length(T)
if T(i) ==
R =R+1;
end
end

end

function R = estaXNIt(T,X,n)
cant = 0;
i=1;
R=0;
while (cant < n) && (i <= length(T))
if T(i) ==
cant = cant+1;
end
i =i+1;
end
if cant >=n
R=1;
end

end

function R = estaXNRec(T,X,n)
| = length(T);
if n ==
R=1;
elseif | ==
R=0;
elseif T(1) ==
R= estaXNRec(T(2:1),X,n-1);
else
R= estaXNRec(T(2:I),X,n);

end



